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e histograrm shown in the figure belowe escrives the rela
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he hgure below shows Uhwee paper tapes that have passed O Lcker Umer wihhch makas a dot every |50 sec. [he dwection of molion ol the topes i1s as
shown in the hgure. The tape that contains Nnegative acceleration Is
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6- This figure shows a portion of a
tape which was taken in Lab 111 for
the kinematics experiment where the
used vibrator makes 200 vibrations
per second. (using this figure, answer
this and the following two questions).
The maximum speed is between the
points: ”
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8- for the same tape, The Minimum
acceleration is between the points *

() ABandBC
() BCandCD
O CD and DE

() Can't be specified







/- For the same tape in the previous
question, If the displacement
between A and B is 3.1cm, then the
average speed in this interval is: *

O 124 cm/s
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